8-1-3 3415
3413
3314 O
O
498 66
; @ O
(
1 1
1 1
2 2
15 16 17 18
A I L N 151,244) . 304,979y ... 227,032
ST R N 10,0000 . o ... 91,400} _..26,000
S R N Li2s| . 28,900y .86y 2,925
ST R R 33,4000 ... 38,300 ... 76,0001 ..98,500
_______________________________________________ 63,166 .. 6238 107,141} 94,076
45.236 21,656 21.821 5531
___________ B b S S A2
(C)= = (B) 12,410 12,492 16,370 16.370
(D)=(A)+(C) 165,337 163,736 321,349 243,402
(E)=(D)/ #DIV/0! #DIV/0! 645 #DIV/0!
498 64
0 0 498
66 105
58 33 66
. 89 89
82 84 89
. 44 57
32 36 44
2 e T T
26




3415

A._ A._ <

4_4_4

4_1_1

39

8-1-3

aeiooon

1)

oo

oo

18




